00 Expanding Brackets with Surds (1)
1 By expanding brackets first, write each of the following calculations in its simplest form.

Example

3(vV2+4)
X | J2 | +4

3 | 3/2 | +12

=3/2+12

Use a multiplication grid and apply the laws of surds.

a) 3(vV2+5) b) 4(v2+5) c) 4(vV3+5) d) 8(vV3+5)

e) 8(V3+10) f) 4(2V3+5) g9) 4(5+2V3) h) 2(10 +2v3)

i) 2(~/100 +2V3) j) 2(vV16+2V3) k) 2(vV10+2v3) 1) 2(V12+2V3)



2 By expanding brackets first, write each of the following calculations in its simplest form.

Example
J6(vZ+3)
X J2 +3 Use a multiplication grid and apply the laws of surds.
\/E \/E +3V6 Make sure your final answer is in its simplest form.
=12 +3/6
=2./3+3/6
a) V7(v2+3) b) V7(V2+4) c) V7(v2+5) d) V6(v2+5)
e) V10(v2 +5) f) V8(v2+5) g) V8(V5+5) h) 2v2(+/5+5)

i) 3v2(v/5+5) i) 3vV2(v2+5) k) 3v2(v/8+5) ) 3v2(v/8++2)



ASHERS

o0 Expanding Brackets with Surds (1)
1 By expanding brackets first, write each of the following calculations in its simplest form.

Example

3(VZ+4)
X JZ +4
3 | 32 | +12

23J2+12

Use a multiplication grid and apply the laws of surds.

a) 3(vZ+5) b) 4(vZ2+5) ) 4(V3+5) d) 8(V3+5)

= 318 L +20 -4J3+20 -3 [3+40

e) 8(v3+10) f) 4(2V3+5) ) 4(5+2V3) h) 2(10 +2V3)

—_»XE-rXO = 8J3r20 =20+3.43 =.20+‘hj§

o *

i
i) 2(JT%TJ+N5) j) 2(VT8+2v3) k) 2(+10 +2v3)

220 t43 = 3ry3  -afor4dd

2(v12 +2v/3)

L}

\

-3(3

2]z r4d3
3+ 448

2 By expanding brackets first, write each of the following calculations in its simplest form.

Example

JB(¥Z+3)
X ﬁ +3 Use a multiplication grid and apply the laws of surds.

\/—6- «/—IE +3v6 Make sure your final answer is in its simplest form.

=y12+3/6
=2/3+3/6

a) V7(VZ+3) b) V7(VZ+4) ¢) V7(VZ +5) d) VB(v2+5)
G as [T sdTradi s sl = Jnrsle
=23 +sl0

e) VI0(vZ +5) f) VB(vV2+5) g) VB(v5+5) h) 2vZ(V5+5)
= 20 5.[10 = Jlers.f3 = dgo + 543 =,2,ﬁ;>1‘lo,ﬁ:
= 2[51—5,_'?0 "-"I-'!‘IO,J—Z =2’J75+IO,J3-

i) 3v2(V5+5) j) 3V2(VZ+5) k) 3v2(V8+5) ) 3V2(V8+2)

=3[+sl2 - brisf2 = 3o+ = j2+b
=/z+:5,f2 =18



